1. Aperfect black body is gne which
(A) isblackin colour
(B) transmits the heat radiations

(C) reflects all the heat radiations K ' i ¢ ol

(B) absorbs heat radiations of all wave lengths fallingon it .

2. The range of slip for induction motor is normally '
(A) Oto1% ‘ - (8) 0.1 tov0.5 % : : )
(C) 2toS% | . (D) Sto25%
3. ' The capacitor in a capacitor-start induction run ac motor is conne;ted in series with
(A)  starting winding ‘ . (B) running winding
(C) . sqquirel cage winding gt . (b) compensating winding
4. The time constant of an R.C. series circuit increases if.the value
(A)  Both Rand Cincreased (B) Both R and C decreased
(€) R increasgd and C decreésed (D) 'R decreased aad Cincreased
5. In a reaction turbilje, the dr_aft tube is used
(A) to run the turbine.full
(B) to prevent aﬁr to enter the tl;rbiné' o
(<) o incregsé the head of water by an amount equal to the heigﬁt qfth;e rur;n;ar outlet above the tail race

(D) totransport water to downstream .

6.  Anisothermal process is governed by

(A) Boyle'slaw (B) Charles' law
(C) - Gay-Lussaclaw - ‘ (D). Avogadro's law
[8-C-2]
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£7.  A100W, 100V bulbs is to connect with 200 V supply. Which of the following arrangement is preferable ?
g (A)  Additional resistance in parallel with lamp

4

F-.

(8) Additional capacitance and inductance in series with lamp
() AAdditionaI inductance in parallel with lamp

(D) Additional resistance in series with lamp

8. Workdone in a free expansion process is

(A) zero (B) minimum

(C)  maximum (D) positive

9. is the real part and is imaginary part of admittance ?

(A) impedance, resistance (B) resistance, impedance

. X\
~(C) susceptance, inductance ~ (D) conductance, susceptance

10. The primary function of the bias circuit is to

(A) hold the circuit stable at vin

(B)  hold the circuit stable at vCC

(C)  hold the circuit stable at the designed O;-p-oint
(D) ensure proper gain is achieng

- 11. The frequency of the induced emf in the rotor circuit is maximum

(A) At standstill 2E. .. (B) Atfull load

(C) Atnoload (D) Atfull torque

Transformers are rated at kVA instead 6f kW because

(A)  kVAis fixed whereas kW is dépend onpf  (B) 'total transformerloss depends on volt-amperes
(€) lo;d pf is often not known (D) it has become customary
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13.

14.

15.

16.

17.

18.

19,

Hook's law holds good up to
(A) yield point (B)  elastic limit

(C) plastic limit (D) breaking point
No-load épeed of which of the following motor wil| be highest ?

{A)_ Shunt motor (B) Series motor
(C)  Cumulative compound motor (D) Differential compound motor

The ratio of specific heat at constant pressure (cp) and specific heat at constant volume (cv)is

(A) greater than one (B) less than one
(C) greater than two (D) less than ﬁwo
The compression ratio is the ratio of

(a) swept vo.lume to clearance volume

LB‘) total volume to clearance volume

(C) total volume to swept volume

(D) - swept volume to total volume

The nature of armature mmf for a zero power factor légging load in a 3-phase alternator is*
(A) demagnetizing _ (B) magnetizing

(C) neutral (D) -cross-magnetizing

The ratio of linear streSs to the linear strain is called

(A) '~ modulus of figid ity - _ (B) vmodulus of elasticity

(C) Poisson's ratio - o (D) | bulk modulus

Parson's turbine is a

(A) simple impulse turbine (B) simple reaction turbine

\

(C) impulse-reaction turbine (D) Compound inpulse turbine
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20.

21.

22.

23.

-24.

25.

26.

Na7.

The number of poles in a three-phase induction motor at 50 Hz frequency running below

1500 rpm.
(A) 4 (B) 2
(C) 6 (D) 8

Thermal diffusivity is a

(A)  function of temperature (B) - physical property of a substance
(C) dimensionless parameter - . (D) function of atmosphere
The number of p-n junction in thyristor is

(A) 1 () 3

c 2 (D) 4

When transistors are used in digital circuits they usually operate in the

(A) active region (B) breakdown region

(C) saturation and cuto.ff regions . (D) - linear region

Which of the following has the highest calorific value ?

(A) ‘ Peat (B) Lignite

(C) Bituminous coal _ | (R) Anthracite cqal

In a parallel resistive circu.it, opening a branch \_lel results in

(A) Change in total voltage ) (B) - Increase in totalpbwer

(hY!

(C) Change in branch voltage (D) Increase in total resistance
A manometer is used to measure
(A) low pressure ’ (B) moderate pressure -

(C) atomospheric pressuré (D) high pressure

When a 3-phase alternator is suddenly short circuited at its terminals, the initial value.of short-circuit current

is limited by which one of the following
(A) transient reactance Xd' _ (B) synchronous reactance Xs
(C) sumofXd", Xd'and Xs (D) sub-transient reactance Xd"
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28.

29.

Which of the following is not a boiler mounting ?

(A)  Blow off cock ’ (B) Feed check valve
() Economiser (D) Fusible plug

The efficiency of Carnot cycle depends upon

(R) temperature limits (B) pressure ratio

(C) volume compression ratio (D) cutt off ratio

30. On which concept superposition theorem is based

31.

32.

33.

34.

(A)  Reciprocity ‘ (B) Duality

(C)  Non-linearity . (D) Linearity

Which of the following turbine is preférred for a specific speed of 60 to 300 r.p.m. ?
(A)  Pelton wheel (B) Francis turbine

(C) Kaplan turbine ] (D) Jonval turbine

' The mmf produced by single phase winding is

(A) pulsating and rotating with constant speed -
(B) pulsating and stationary : 1
(C) constant in amplitude and stationary

(D) constantin amplitude and rotating

The gate lead, in thyristor is welded to . ' : 45 L =
(A) P layer to which anode is connected (B) N layer nearest to anode terminal
(C) Player nearést to cathode te_frminal_ (D) Outside N layer

In order to measure the flow with a venturimeter, it is installed in

(8)  horizontal line 2 (B) inclined line with flow upwards

(C) inclined line with flow downwards - (D) any direction and in any location -

[8-C-6]




35.

36.

37.

38.

39.

40.

41,

In a DC Machine, for Lap winding, the number of brushes is always _

(A)  Double the number of poles (B) Same as the number of poles
(C)  Half the number of poles (D) Two

The centre of gravity of the volume of the liquid displaced Is called

(‘l.\) centre of pressure (B) centre of buoyancy
(C) ~ metacentre (D) none of these

The sum of internal energy (U) and the product of pressure and volume (p.v) is known as
(A) workdone (B) entropy

(& Enthalpy ‘ (D) internal energy
During the short circuit test on transformer, core loss is negligible because
(A) thg power factor is high

(B) thecurrentonlv side is \/ery small

(C) the voltége applied at hvis very low and hence is mutual flux

(D)' iron becomes fully saturated A'

Which part of transformer is subjected to maximum heating ?

(A) con;e g . (B) frame -

(© ol AN B winding

The gas turbine cycle with regenerator imprc:.wes

(A) thermal efficiency . (B) work ratio

(C)  avoids pollution ~ (D) fuel efficigncy
Which of the following is not a reaction turbine ?'

(A)- Furneyron turbine ‘ ’ (B) Jonval turbine

(C)  Thomson's turbine ; : (D) Pelton turbine
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42,

43,

45.

" 6.

47. -

49.

The steam leaves the nozzle at a s

; d a high velocity
(A)  high pressure and a low velocity (B) high pressure an

() low pressure and a high velocity

(C) low pressure and a low velocity

. ) AL
When the rotor of an induction motor is standstill the value of the slip

(A) Zero (B) "1
(€) 100 (D) Infinite

The difference between dry bulb temperature and wet bulb temperature, IS called

(A)  drybulb depression (B) wet bulb depression

(C) -~ dew point depression () degree of saturation

The stator winding of 1-phase induction motor is splitted in two parts in order to

(A)  improve efficiency (B) improve power facto.r

(C) increase speed - (D) develop starting torque .

According to-equation of continuity,

(A) wia;=w,a, (B) wyvi= WaVs

(Q)  awi=ayv, (D) ai/vi= az/Yz

A single phase fully controlled ddalv converter uses Thyristors.

A 2 o 6) 8

© & S

The {la!ue of ga's.cc-)nstant (R)vin S lunitsis . ~ :
(A) 0.287 /keK o U 2

() 28.73/keK (D) .287J/kéK '

In a C-E configuration, an emitter resistor is used for:
(A) - stabilization ' . (B) acsignal bypass

(C) collector bias ' (D) higher gain.

[8-C-8] -



50.

53.

54.

55.

' 56.

|

51.

57.

The natural draught is produced by

(A) steam jet (B) centrifugal fan

(C) chimney (B) both (a) and (b)
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58.

59.

60.

61.

62.

63.

64.

65.

e 33l euuetl sau cndn ue sl ?

(A) 1951 | (B) 1947

(C) 1946 (B) 1952
{lAettuiell 52f ol WAL $e €20 D ?

(A)  oletHAA (B) ototatm
(C) et (D) AAMstst
Wscdl Wy OURHase Gy e yecl B 2
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- 66.

67.

| 68.

69.

70.

71.

72.

73.
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74.

75.

76.

77.

78.

79.

80.

81.
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83.

84.

85.

86.

|87

88,
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(A) 1949 (B) 1947

(C) 1948 (D) 1950

City taxes are based on an estimate of the value of one's property. (Find suitable word for underlined)

(A). appraisal (B) forecast

(C) diagnosis (D) outline

['hope it will not rain when they have started their journey. (Find more suitable from given options for underlined)

(A)  they will have started their journey (B) they will start their journey

(C)  they start their journey (D) No improvement

In the following questions 88 & 89 look at the underlined part of each sentence. Below the sentence are given
three possible substitutions for the underline part. If any one of substitutions (a), (b) or (c) is better than the
underlined part, choose that substitution as your response. If none of the substitutions improves the sentence,

choose (d) as your response. Thus, a 'No improvement' response will be signified by the letter (d).

Hold hands of your child while crossing the road.

(A)  your child's hands (B) your child's hand

(C)  hand of your child , (D) Noimprovement

[8-C-131



89.

90.

91.

92.

93.

94.

‘95,

(A)  winked after . . (B) winkéd at

(e winkedout _ ) , (D) winked

You must accustom yourself with new ideas.

(A) accustomed with - (B) accustom to

(C)  accustom yourself to ¥ (B) No improvement

The poorhavetowork_____ morning to evening. (Fill in the blanks in question )
(A) in ' (B) to

(€)° from (D) - before

. 2 ' ' i i atures that a
The limestone formations suggest that in the distant past, the area was a vast sea filled with cre 50

calcium compounds from the water. (Find more suitable from given options for underlined)
(A) absorbs (B) absorbed
(C) had absorbed : - (D) .Noimprovement

Technology must use to feed the forces of change. (Choose the correct option for the underline part to make the

sentence grammatically correct)

(A)  must bg used to feed < s+ (B) musthave been using tg feed

(C) must use having fed- . (D) must be using to feed ' y
He has full facts butis deliberately hiding them. f(F?iII in:_fc-he blank)

(A) up hi§ sleeves (B). in his sleevés _' —

(C)  under his sleeves : (D) upon his sleeves

Their faults are by their maéters, (Fill in the blank)

She a brief appearance at the end of the party (Fill in the blank from the options)
(A) puton (B) putin-

(C) putacross . (D) put up
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96.

97,

98.

| 99,

100.

Which part of the given sentence below is incorrect ?

All of us / surprised / to see an old man of / sixty taking part in the Marathon held last month.

(A) Allofus (B) surprised

(C) toseean old man of ' (D) sixty taking part in the Marathon P.weld last month.
_lgo swimming every morning. (Fill m the blanks in question )

(A) to (B) for

(€) at ik (D) in

The preservation of peace is necessary. (Choose the correct / improved part for underlined)

(A) maintenance of peace : (B) establishment of peace

(G) persuasion of peace ~ (D) Noimprovement

If you wrote to me earlier, | would have easily-solved your problem. (Find more suitable from given options for

underlined). ~
(A)  were writing . (B) had written’
(€ have written ' \ 3 (D) Noimprovement

Which part of the given sentence below is incorrect ?

"Of the two principles / he put forward, the last one/ was the more/ difficult to understand.

(A) Of the two principles : (B) he put forward, the last one

(C) wasthe more ' ' (D) difficult to understand.
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